Chapter13HW

Answer Section
SHORT ANSWER

1.
ANS:


It depicts a relationship between output and a given input. The graph should show output increasing, but at a decreasing rate as inputs increase.
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2.
ANS:


Average fixed cost always declines as output rises because fixed cost is being spread over a larger number of units, thus causing the average total cost curve to fall.

3.
ANS:


When average total cost curve is falling, marginal cost is below ATC.  If the average total cost curve is rising, marginal cost is above ATC.

4.
ANS:


The two curves will cross at the minimum point on the average total cost curve.
